Answer on Question #51384, Physics, Mechanics | Kinematics | Dynamics
Question

An automobile driver increasing the speed at a constant rate from 45 km/h to 58
km/h in 0.49 min. A bicycle rider speeds up at a constant rate from rest to 13
km/h in 0.49 min. What are the magnitudes of (a) the driver's acceleration and (b)
the rider's acceleration?

Solution
(a) First of all, will rewrite the value:

45000m

V,=45km/h= =125m/s
36005

V, =58km /h = 20000M _16 19m/s
00s

t=0.49min =29.4s

Since the driver increasing the speed at a constant rate:

V.=V, +at=
. V,-V, 16.11m/s-12.5m/s
t 29.4s

=0.12280
S

(b) Since the bicycle rider speeds up at a constant rate from rest:

V,=0+at=at
V,=13km/h=3.61Im/s

a=o_36IM/S_ 4 9190gM
t 29.4s S
Answer
(a)0.12288—n:

(b)o.12288—”2‘
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